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1. Write the predecessor and successor of

19,1997,12000,49,100000

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3JWV1H63PgLI

2. Is there any natural number that has no

predecessor?

o Watch Video Solution

3. Is there any natural number which has no

succeesor ?Is there a last nautral number?

o Watch Video Solution



https://dl.doubtnut.com/l/_3JWV1H63PgLI
https://dl.doubtnut.com/l/_iUGI79Qh7zpb
https://dl.doubtnut.com/l/_cuoMEC6nxGMN

4. Are all natural numbers also whole

numbers?

o Watch Video Solution

5. Are all whole numbers also natural

numbers?

o Watch Video Solution

6. Which is the smallest prime number?



https://dl.doubtnut.com/l/_GP6RUVsvi3EY
https://dl.doubtnut.com/l/_zCeVKK6vAoEf
https://dl.doubtnut.com/l/_ohS1BWijDzjs

o Watch Video Solution

7.Find4 + 5,24 6,3 +5and 1 + 6 using the

number line.

o Watch Video Solution

8. Find 8 — 3,6 — 2,9 — 6 using the number

line.

o Watch Video Solution



https://dl.doubtnut.com/l/_ohS1BWijDzjs
https://dl.doubtnut.com/l/_7AsDeoOMxvo0
https://dl.doubtnut.com/l/_4jpG3N3SH069
https://dl.doubtnut.com/l/_jUuM0GqHOeOF

9. Find 2x 3,3 x3 and 2 X 2 using the

number line.

o Watch Video Solution

10.Find 7 + 18 + 13, 16 + 12 + 4.

o Watch Video Solution

11. Find using distributive property.

728x101

| & I


https://dl.doubtnut.com/l/_jUuM0GqHOeOF
https://dl.doubtnut.com/l/_1og5AslxfNOF
https://dl.doubtnut.com/l/_sa4Es6rqY6dC

| ¥ Watch Video Solution |

12. Find 15 X 68,17 x 23,69 x 78 4+ 22 X 69

using distributive property.

° Watch Video Solution

13. Which number can be shown only as a line?

° Watch Video Solution



https://dl.doubtnut.com/l/_sa4Es6rqY6dC
https://dl.doubtnut.com/l/_OTWkWBAHMtEL
https://dl.doubtnut.com/l/_WT8wadjmJSZH

14. Which numbers can be shown as squares?

o Watch Video Solution

15. Which numbers can be shown as

rectangles?

o Watch Video Solution

16. Write down the first seven triangular

numbers.



https://dl.doubtnut.com/l/_hzM0FXeoqt1I
https://dl.doubtnut.com/l/_rYaAXW8QKtuY
https://dl.doubtnut.com/l/_Myc5X8dxOy0t

o Watch Video Solution

17. Some numbers can be shown by two

rectangles for example
2 . * v+ OR 0 0T 00

D @&®

Give at least five other examples.

o Watch Video Solution



https://dl.doubtnut.com/l/_Myc5X8dxOy0t
https://dl.doubtnut.com/l/_tcWGIgKIRDc6

1. Subtraction is not commutative for whole
numbers. Use at least three different pairs of

numbers to verify it.

o Watch Video Solution

2.1s (6 + 3) same as (3/6) ?
Justify it by taking few more combination of

whole numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_tbYAJIRzPWqs
https://dl.doubtnut.com/l/_5wQcq3391JOH

Think Discuss And Write Page No 37

1Is (16 —4) —2 =16 — (4 — 2) ? Is there on
associative property for division? Discuss with

your friends. Think of

(28 —14) — 2 and 28 — (14 — 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_f2rwpfC9Q6r3

1. Write the next three natural numbers after

10999.

o Watch Video Solution

2. Write the three whole numbers occurring

just before 10001.

o Watch Video Solution

3. Which is the smallest whole number?



https://dl.doubtnut.com/l/_ZhjRR61HOq5x
https://dl.doubtnut.com/l/_Fz0ShGkLIaRO
https://dl.doubtnut.com/l/_OjUHpacz2rbR

o Watch Video Solution

4. How many whole numbers are there

between 32 and 537

o Watch Video Solution

5. Write the successor of :

2440701

o Watch Video Solution



https://dl.doubtnut.com/l/_OjUHpacz2rbR
https://dl.doubtnut.com/l/_MqM4NnRzUTMN
https://dl.doubtnut.com/l/_EINuWkUIStGq
https://dl.doubtnut.com/l/_hfrol7qaFgZt

6. Write the successor of :

100199

o Watch Video Solution

7. Write the successor of :

1099999

o Watch Video Solution



https://dl.doubtnut.com/l/_hfrol7qaFgZt
https://dl.doubtnut.com/l/_lpwmHDt4SxZ6

8. Write the successor of :

2345670

o Watch Video Solution

9. In each of the follwing pairs of
numbers,state which whole number is on the
left of the other number on the number line
Also write them with the appropriate sign(>,<)

between them.

530, 502

| & I


https://dl.doubtnut.com/l/_1U3jAkgkyvue
https://dl.doubtnut.com/l/_WKBDa95Z64Ge

| ¥ Watch Video Solution |

10. In each of the follwing pairs of
numbers,state which whole number is on the
left of the other number on the number line
Also write them with the appropriate sign(>,<)
between them.

370,307

° Watch Video Solution



https://dl.doubtnut.com/l/_WKBDa95Z64Ge
https://dl.doubtnut.com/l/_kBPf3dWTkT0r

M. In each of the follwing pairs of
numbers,state which whole number is on the
left of the other number on the number line
Also write them with the appropriate sign(>,<)
between them.

98765,56789.

o Watch Video Solution

12. In each of the follwing pairs of

numbers,state which whole number is on the


https://dl.doubtnut.com/l/_Pv0o9C0CXAx8
https://dl.doubtnut.com/l/_Asgr392IW6by

left of the other number on the number line
Also write them with the appropriate sign(>,<)
between them.

9830415,10023001.

° Watch Video Solution

13. Which of the following statement true(T)
and which are false (F)?

Zero is the smallest natural number.

° Watch Video Solution



https://dl.doubtnut.com/l/_Asgr392IW6by
https://dl.doubtnut.com/l/_y1HHsz7urFZg
https://dl.doubtnut.com/l/_92daih9u1IJy

14. Which of the following statement true(T)
and which are false (F)?

400 is the predecessor of 399.

° Watch Video Solution

15. Which of the following statement true(T)
and which are false (F)?

Zero is the smallest whole number.

° Watch Video Solution



https://dl.doubtnut.com/l/_92daih9u1IJy
https://dl.doubtnut.com/l/_Ns5IsPJ0ER2b
https://dl.doubtnut.com/l/_Y4DW99I4j0AN

16. Which of the following statement true(T)
and which are false (F)?

600 is the successor of 599.

° Watch Video Solution

17. Which of the following statement true(T)
and which are false (F)?

All natural numbers are whole numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_Y4DW99I4j0AN
https://dl.doubtnut.com/l/_6eIRHRKCpPaJ

18. Which of the following statement true(T)

and which are false (F)?

All whole numbers are natural numbers.

o Watch Video Solution

19. Which of the following statement true(T)

and which are false (F)?
The predecessor of a two digit number is

never a single digit numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_WWcTSUnrpOGO
https://dl.doubtnut.com/l/_jl0OODriLfeE

20. Which of the following statement true(T)
and which are false (F)?

1is the smallest whole number

° Watch Video Solution

21. Which of the following statement true(T)
and which are false (F)?

The natural number 1 has no preecessor.

° Watch Video Solution



https://dl.doubtnut.com/l/_jl0OODriLfeE
https://dl.doubtnut.com/l/_kXzqXeqv47uY
https://dl.doubtnut.com/l/_sv8cspojaZB8

22. Which of the following statement true(T)
and which are false (F)?

The whole number 1 has no predecessor.

o Watch Video Solution

23. Which of the following statement true(T)
and which are false (F)?

The whole number 13 lies between 11 and 12.

o Watch Video Solution



https://dl.doubtnut.com/l/_Xn6yRzoqm63y
https://dl.doubtnut.com/l/_xoKl0ttqvrB5
https://dl.doubtnut.com/l/_C7fSVUjIBPd7

24. Which of the following statement true(T)
and which are false (F)?

The whole number 0 has no predecessor

o Watch Video Solution

25. Which of the following statement true(T)
and which are false (F)?
The successor of a two digit number is always

a two digit number.

° Watch Video Solution



https://dl.doubtnut.com/l/_C7fSVUjIBPd7
https://dl.doubtnut.com/l/_Zt15llE4cpFj

1. Find the sum by suitable rearrangement.

837 + 208 + 363.

o Watch Video Solution

2.Find the sum by suitable arrangement.

1962 + 4531538 + 647

° Watch Video Solution



https://dl.doubtnut.com/l/_7JXHwqkbc3eZ
https://dl.doubtnut.com/l/_WuwAb07cfUuR
https://dl.doubtnut.com/l/_LsJbJ6CpKa5R

3. Find the product by a suitable
rearrangement.

2 x 1768 x 50.

° Watch Video Solution

4. Find the product by a suitable
rearrangement.

4 x 166 x 25.

° Watch Video Solution



https://dl.doubtnut.com/l/_LsJbJ6CpKa5R
https://dl.doubtnut.com/l/_XWKddzUXf7oO

5. Find the product by a suitable

rearrangement 8 x291 x 125.

o Watch Video Solution

6. Find the product by a suitable

rearrangement.625 x 279 x 16..

o Watch Video Solution



https://dl.doubtnut.com/l/_sZoMTlLPBjqG
https://dl.doubtnut.com/l/_Oc60wysuzs5V

7. Find the product by a suitable

rearrangement.285 x 5 x 60.

o Watch Video Solution

8 Find the product by a suitable

rearrangement.125 x 40 x 8 x 25.

o Watch Video Solution



https://dl.doubtnut.com/l/_M8lhNhWvdxkc
https://dl.doubtnut.com/l/_9776gf2Dchjm

9. Find the value of the following:

297 x 17 4 297 x 3

o Watch Video Solution

10. Find the value of the following :

54279 x 92 + 8 x 54279.

o Watch Video Solution



https://dl.doubtnut.com/l/_Nftt8Xgenwcd
https://dl.doubtnut.com/l/_zMVJkJRZ30m6

11. Find the value of the following :

81265 x 169 — 81265 x 69.

o Watch Video Solution

12. Find the value of the following :

3845 x 5 X 782 + 769 x 25 x 218.

o Watch Video Solution



https://dl.doubtnut.com/l/_WS4wHLAurzUy
https://dl.doubtnut.com/l/_6Jf0jf79gSwn

13. Findthe product,using suitable properties.

738 x 103.

o Watch Video Solution

14. Findthe product,using suitable properties.

854 x 102.

o Watch Video Solution



https://dl.doubtnut.com/l/_LN4weQriBr11
https://dl.doubtnut.com/l/_9LVIPFgjEmub

15. Findthe product,using suitable properties.

2581008

o Watch Video Solution

16. Find the product using suitable properties.

1005 x 168

o Watch Video Solution



https://dl.doubtnut.com/l/_ZP03ZNuLksso
https://dl.doubtnut.com/l/_QYoEUX3n33bR

17. A taxi- driver filled his car petrol tank with
40 litres of petrol on Mondy.The next dayhe
filled the tank with 50 litres of petrol.If the
petrol costs Rs.44 per litrehow much did he

spend in all on petrol?

o Watch Video Solution

18. A vendor supplies 32 litres of milk to a

hotel in the morning and 68 litres of mik in the


https://dl.doubtnut.com/l/_d0pHPNyz7yC1
https://dl.doubtnut.com/l/_KU9dV3FcKrCq

evening.If the milk costs Rs.15 Per litre,how

much money is due to the vendor per day?

° Watch Video Solution

19. Match the following:

[y 425 = E36= 425 = (6 + 30 + 100) ~_-* (a) Commutative undermultiplication

(i 27 4% = 50 =2 = 50 = 44 ’ (b)) Commutative under addltion

{iily 8O+ 2005 4 20 = K0+ 20+ 2005 () Distributivity of muoltiplicetion
over addition

o Watch Video Solution



https://dl.doubtnut.com/l/_KU9dV3FcKrCq
https://dl.doubtnut.com/l/_Anjhfy99YwFJ
https://dl.doubtnut.com/l/_m6IQTRWMoa0Z

1. Which of the following will not represent
zero?
a)l+0

b)2 + 3

o Watch Video Solution

2. Which of the following will not represent

zero?

0 x 0=

o Watch Video Solution



https://dl.doubtnut.com/l/_m6IQTRWMoa0Z
https://dl.doubtnut.com/l/_MwNqDTKiYlxI
https://dl.doubtnut.com/l/_R4spOOMoYSPU

3. Which of the following will not represent

zero?

O_
5

o Watch Video Solution

4. Which of the following will not represent

zero?

10 — 10
2

o Watch Video Solution



https://dl.doubtnut.com/l/_R4spOOMoYSPU
https://dl.doubtnut.com/l/_SGJTKjwHg4VL
https://dl.doubtnut.com/l/_QbxNDjQkecpO

5. If the producto of two whole numbers is
zero can we say thatone or both of them will

be zero ?Justify through examples.

° Watch Video Solution

6. If the product of two whole numbers is 1,can
we say that one or oth of them will be 1 ?

Justify through examples.

° Watch Video Solution



https://dl.doubtnut.com/l/_QbxNDjQkecpO
https://dl.doubtnut.com/l/_kRCMrOnjKLUl

7.Find by distributivity method:

728 x 101

o Watch Video Solution

8. Find using distributive property.

5437 x 1001

o Watch Video Solution



https://dl.doubtnut.com/l/_MlszhXRjV4Vs
https://dl.doubtnut.com/l/_Us2KMCtNRtsV

9. Find by distributivity method:

824 x 25

o Watch Video Solution

10. Find by distributivity method:

4275 x 125

o Watch Video Solution



https://dl.doubtnut.com/l/_KN3O1ROsHNGA
https://dl.doubtnut.com/l/_0Ied7dJDCpxO

11. Find by distributivity method:

504 x 35.

o Watch Video Solution

Additional Questions For Practice Very Short

Answer Type Questions

1. Number of whole numbers between 48 and

78 is

A.30


https://dl.doubtnut.com/l/_sOzsgwdleT3Y
https://dl.doubtnut.com/l/_V9SwsiocNNXt

B. 29

C. 31

D. N/A

Answer:

o Watch Video Solution

2. Product of successor and predecess or of

largest 3-digit number is

A. 1998


https://dl.doubtnut.com/l/_V9SwsiocNNXt
https://dl.doubtnut.com/l/_JRGq9NoJ2pGE

B. 998000

C. 999000

D. N/A

Answer:

o Watch Video Solution

3. The identity for the multiplication of whole

numbers is

A.O


https://dl.doubtnut.com/l/_JRGq9NoJ2pGE
https://dl.doubtnut.com/l/_JxBtKv5uvpaJ

B.1

C.1+4+0

D. N/A

Answer:

o Watch Video Solution

4.The successor of 1 million is

A. 1000001

B. 100001


https://dl.doubtnut.com/l/_JxBtKv5uvpaJ
https://dl.doubtnut.com/l/_kYYmCunLStzZ

C. 10001

D. N/A

Answer:

° Watch Video Solution

5. Which of the following is not true

A.O+0=0
BOx0=0

C.0/0=0


https://dl.doubtnut.com/l/_kYYmCunLStzZ
https://dl.doubtnut.com/l/_aBWgjOGdIa9d

D. N/A

Answer:

o Watch Video Solution

6. Natural numbers are not closed under

A. Addition

B. Multiplication

C. Subtraction

D. N/A


https://dl.doubtnut.com/l/_aBWgjOGdIa9d
https://dl.doubtnut.com/l/_CGPH3LDVFX5G

Answer:

o Watch Video Solution

7.Using dot (. ) pattern, which of the following

numbers can be arranged in all the three ways

l.e., line, triangle and a rectangle?

A.10

B. 11

C.12

D.N/A


https://dl.doubtnut.com/l/_CGPH3LDVFX5G
https://dl.doubtnut.com/l/_kwtPp7w1XpYp

Answer:

o Watch Video Solution

8.1000 is predecessor of

A. 999

B. 1000

C. 1001

D.N/A

Answer:


https://dl.doubtnut.com/l/_kwtPp7w1XpYp
https://dl.doubtnut.com/l/_P5NdQoINAllX

° Watch Video Solution

9. The number which is less than every natural

number

A.O

B.1

C.2

D. N/A

Answer:



https://dl.doubtnut.com/l/_P5NdQoINAllX
https://dl.doubtnut.com/l/_vvOMtYA7GtPO

10. Of the given whole numbers are 927 and

920, the number 920 lies on which side of the

number 927 on the number line

A. left side

B. right side

C. none of these

D. N/A

Answer:



https://dl.doubtnut.com/l/_vvOMtYA7GtPO
https://dl.doubtnut.com/l/_nNPZCRcis5xd

I 0 Watch Video Solution

11. Correct the statements

Every whole number is a natural number.

o Watch Video Solution

12. State whether the statement is true or not

Identity for addition of whole number is 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_nNPZCRcis5xd
https://dl.doubtnut.com/l/_GEmVUzYiJUGI
https://dl.doubtnut.com/l/_C9RNrJrl6yaT
https://dl.doubtnut.com/l/_RU8vIw0VccA7

13. State whether the statement is true or not

There exists the largest natural number.

o Watch Video Solution

14. Difference between successor of largest 4-

digit number and the successor of smallest.

° Watch Video Solution

15. State whether the statement is true or not

Predecessor of 61 is 60.


https://dl.doubtnut.com/l/_RU8vIw0VccA7
https://dl.doubtnut.com/l/_yFl2EYloJFHl
https://dl.doubtnut.com/l/_jBdKrH1Pqfev

° Watch Video Solution

16. Represent the following on the number

line.

6 —4

° Watch Video Solution

17. Represent the following on the number

line.

3 x4

| |


https://dl.doubtnut.com/l/_jBdKrH1Pqfev
https://dl.doubtnut.com/l/_Ex7lgiuK9wKv
https://dl.doubtnut.com/l/_d7sVy58mEgmD

& Wwatch Video Solution ]

18. Represent the following on the number

line.

2 X7

° Watch Video Solution

19. Match the following:

[n) 2% 1KY = 50 (i) zero
(by 675 = 125
=TS e (100 +2

[t} The greatest whole numh
(dy Additive identity (iv) Commulativity

under addition
) 1RORI

{vh) Drstributivity

(e} Whole numbers beiween 21 and 51
[y 204 198+ RO = 200 ¢ RO A-198


https://dl.doubtnut.com/l/_d7sVy58mEgmD
https://dl.doubtnut.com/l/_yGMJGGubyfY7
https://dl.doubtnut.com/l/_WCgaGeDrJAAe

° Watch Video Solution

20. Find if subtraction is commutative for the

whole numbers 4234 and 2876.

o Watch Video Solution

Additional Questions For Practice Short Answer

Type Questions



https://dl.doubtnut.com/l/_WCgaGeDrJAAe
https://dl.doubtnut.com/l/_MbsfJ6RksfRO

1. Solve using the suitable rearrangement.

250 x 60 x 8 x 50

o Watch Video Solution

2. Solve using the suitable rearrangement.

125 x 7594 x 8

o Watch Video Solution



https://dl.doubtnut.com/l/_uKGGuNSInT6w
https://dl.doubtnut.com/l/_lfljcwKlx2It

3. Solve using the suitable rearrangement.

437 + 663 + 205

o Watch Video Solution

4. Solve using the suitable rearrangement.

1063 + 548 + 1937 + 552

o Watch Video Solution



https://dl.doubtnut.com/l/_nLSgqYv8j8w5
https://dl.doubtnut.com/l/_BMxi1AMDO9Lv

5. Find the value of the following:

394 x 93 + 394 x 7

o Watch Video Solution

6. Find the value of the following:

4265 x 173 — 4265 x 73

o Watch Video Solution



https://dl.doubtnut.com/l/_UMzOOicBOjnt
https://dl.doubtnut.com/l/_WluRCIDcfHvw

7.Find the value of the following:

795 x (999 + 1)

o Watch Video Solution

8. Find the value of the following:

597 x 10 + 6410541 x 5970

o Watch Video Solution



https://dl.doubtnut.com/l/_MoX23r2SS0HE
https://dl.doubtnut.com/l/_rMl4r5UzDLN7

9. Observe the pattern in the following and
write the next steps.

9x9+7=238

98 x 9 + 6 = 388

987 x 9 + 5 = 8838

9876 x 9 + 4 = 83888

?

o Watch Video Solution



https://dl.doubtnut.com/l/_RjedXkxR9aZL

10. Observe the pattern in the following and
write the next steps.

1+3=2x2

1+3+5=3x3

1+3+5+7=4x4

1+3+5+7+9=5X%x35

?

o Watch Video Solution



https://dl.doubtnut.com/l/_qwYbpKmumKHi

11. Observe the pattern in the following and

write the next steps.

1 x 2

2
2 x 3

2
3 x4

2

4
1+2+3+4= ;5

1+2=

1+2+3=

?

o Watch Video Solution



https://dl.doubtnut.com/l/_ChhzyGb9dOVd

12. Observe the pattern in the following and
write the next steps.

Ix8+1=9

12 x 8 +2 = 98

123 x 8 + 3 = 987

1234 x 8 + 4 = 9876

?

o Watch Video Solution



https://dl.doubtnut.com/l/_zFbPx5ZNZCnj

13. Represent the following on the number

line.

7+5

o Watch Video Solution

Additional Questions For Practice Long Answer

Type Questions

1. Find the product using distributivity:

397 x 102

l o Watch Video Solution


https://dl.doubtnut.com/l/_9lw6Nb8bJsQ6
https://dl.doubtnut.com/l/_vFcWhklnGg69

2. Find the product using distributivity:

1862 x 99

o Watch Video Solution

3. Find the product using distributivity:

397 x 102

° Watch Video Solution



https://dl.doubtnut.com/l/_vFcWhklnGg69
https://dl.doubtnut.com/l/_QgKNz2R5OI7R
https://dl.doubtnut.com/l/_Cx1KVImtx363

4.Find the product using distributivity:

397 x 102

o Watch Video Solution

5. Check the associativity property for 324,193

and 107.

o Watch Video Solution

Additional Questions For Practice Hots High

Order Thinking Skills



https://dl.doubtnut.com/l/_4Krrjr3pEEIj
https://dl.doubtnut.com/l/_6gmpwWY8ZyIY

1. Use the dot pattern to show

Rectangular number is square number

o Watch Video Solution

2. Use the dot pattern to show

Triangular number is a square number

o Watch Video Solution



https://dl.doubtnut.com/l/_00Jd8TXqsXg6
https://dl.doubtnut.com/l/_lH7v8lUVtGFZ

3. Use the dot pattern to show

Rectangular number is a triangle number

o Watch Video Solution

Sample Paper For Practice

1. The difference between the successor and

predecessor of a number is

A.O


https://dl.doubtnut.com/l/_Cw7YVEVrp8Oz
https://dl.doubtnut.com/l/_CowyTqReRXHH

B.1

C.2

D. N/A

Answer: C

o Watch Video Solution

2. If the product of two numbers is zero, one

of the numbers is 100 then the other number


https://dl.doubtnut.com/l/_CowyTqReRXHH
https://dl.doubtnut.com/l/_RD0upz3xPxlk

A.O

B. 100

C. none of these

D.N/A

Answer: A

o Watch Video Solution

3. Number of whole'numbers lying between O

and 100 are


https://dl.doubtnut.com/l/_RD0upz3xPxlk
https://dl.doubtnut.com/l/_6iVvC7vJC6eq

A.100

B. 99

C.98

D.N/A

Answer: C

° Watch Video Solution

4. Predecessor of one-lakh is

A. 10001


https://dl.doubtnut.com/l/_6iVvC7vJC6eq
https://dl.doubtnut.com/l/_o4uY23TKn9IJ

B. 100001

C. 99999

D. N/A

Answer: C

o Watch Video Solution

5. Fill in the blanks:
Smallest 4-digit number is the successor

of number.

I o Watch Video Solution


https://dl.doubtnut.com/l/_o4uY23TKn9IJ
https://dl.doubtnut.com/l/_WpATMCHQsUs0

6. Fill in the blanks

is the identity for the addition of whole

numbers.

o Watch Video Solution

7. Any non-zero whole number divided by itself

gives the quotient

o Watch Video Solution



https://dl.doubtnut.com/l/_WpATMCHQsUs0
https://dl.doubtnut.com/l/_r5Xe6tGn7LBr
https://dl.doubtnut.com/l/_NFLdmF6n6J2W
https://dl.doubtnut.com/l/_nT8w7q9jdafq

8. Difference between two consecutive whole

numbers is

o Watch Video Solution

9. State whether true or false. Give reason.

Every whole number has its predecessor.

o Watch Video Solution



https://dl.doubtnut.com/l/_nT8w7q9jdafq
https://dl.doubtnut.com/l/_zJkLTjrGfLdK

10. State whether true or false. Give reason.

Predecessor of a 2-digit number is a 2-digit

number.

o Watch Video Solution

11. Determine the
3+4+ 5+ 45 + 46 + 47

rearrangement.

by

sum

of

suitable

o Watch Video Solution



https://dl.doubtnut.com/l/_6V9jmL3L6nns
https://dl.doubtnut.com/l/_OxkneglwIMc6
https://dl.doubtnut.com/l/_6qeOpoDP2fa0

12. Use the dot pattern to show

Triangular number is a square number

o Watch Video Solution

13. Find 18 X 25 using associative property of

multiplication,

o Watch Video Solution

14.Find 24 4 37 4 76 in two different ways.

| & I


https://dl.doubtnut.com/l/_6qeOpoDP2fa0
https://dl.doubtnut.com/l/_vore7vAcRVo3
https://dl.doubtnut.com/l/_mqp8f1njwtjp

| ¥ Watch Video Solution |

15. Find 324 x 102 using distributivity.

o Watch Video Solution

16. Represent the following on the number line
4
(a) 4 more than 3

(b) 2 less than 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_mqp8f1njwtjp
https://dl.doubtnut.com/l/_zWKB5j1KbG4P
https://dl.doubtnut.com/l/_MoHtuznx9XXF




